
(PSUHVD� (03 1RPEUH�GHO�SDJR� ��������������HSP )HFKD� ���������� +RUD� �������� )HFKD�GH�HQYtR�GHO�SDJR� ����������

1,7� ��������� 6HFXHQFLD� =7 )HFKD�GH�*HQHUDFLyQ� ���������� )HFKD�SDUD�3URFHVDU�HO�SDJR� ����������

7LSR�GH�SDJR� 3$*2�$�3529(('25(6 1~PHUR�GH�FXHQWD�D�GHELWDU� �����������

,PSUHVR�SRU� -*$9,5,$*

7RWDO�5HJLVWURV�GHO�/RWH� �� 5HJLVWURV�3URFHVDGRV� � 5HJLVWURV�5HFKD]DGRV� � 5HJLVWURV�3HQGLHQWHV� �

9DORU�7RWDO�GHO�3DJR� ����������������� 9DORU�5HJLVWURV�3URFHVDGRV� ����� 9DORU�5HJLVWURV�5HFKD]DGRV� ������������� 9DORU�5HJLVWURV�3HQGLHQWHV� �����

1Ò0(52�'(
&8(17$

7,32�'(
&8(17$

'2&80(172
%(1(),&,$5,2

120%5(�%(1(),&,$5,2 9$/25 (17,'$' (67$'2
)(&+$
$3/,&$&,Ï1

����������� $KRUURV ���������� =$3$7$�252=&2�-+21 ������������ %$1&2/20%,$ 180(52�&8(17$�12�(;,67( ����������

3iJLQD���GH��

��


